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N = 0] &F AF S & AN A
2015 = 20 SBHIAMBELESH A
A BHIAH D
H: DXL (MY - SADY/AMARE - DEF)
@ s3] 24 Y AL (s2HAANLSEEH) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
2ot A 4,658,805 3,260,805 1,398,000
Xl 175,000
&< 100,000
Al 4,383,805
TOXH(MY - EAD/MATE - DTE) 2,588,805 809,805 1,779,000
Xl 175,000
= 100,000
Al 2,313,805
SZ2CX X4 2 A (sZ2HAAIEELESIAH) 2,588,805 809,805 1,779,000
Xl 175,000
== 100,000
Al 2,313,805
SEHSH2 Al 248,000 30,000 218,000
307 212t0| & 48,000 0 48,000
05 QI2tE 2 48,000 0 48,000
OSFEM M2 HE=HHKCAE SA22
Hl X & 4,000,000& x12& 48,000
401 Al HI L E0HHI 200,000 30,000 170,000
01 Al&H| 198,560 30,000 168,560
OSFEM M2 HE=AHHKHIAE HAALS
198,560,000 198,560
03 Al 201 Y| 1,440 0 1,440
OSFEL M2 HE=HHKHIAE HAALS
1,440,000& 1,440
sSZ2CHHX 22 29 108,094 102,754 5,340
101 o124 B 13,464 13,124 340
M4JIAH22RER S 13,464 13,124 340
OSZCX 24 S SAFH 13,464,000 13,464
201 Yet2 | 19,950 19,950 0
01 AP 2t 2| H| 10,350 10,350 0
OsZ2CX22 29 10,350,000 10,350
02 232%H4| 9,600 9,600 0
Os2HX JI2s M2 3,600,000 3,600
Os3HX JI2s L HHEAIE SXES
6,000,000& 6,000
202 o4 | 7,560 7,560 0
01 2Ll 7,560 7,560 0
OsZ2SHAAYE g2 =& 7,560,000 7,560
206 M = H| 6,000 6,000 0
01 X2 H| 6,000 6,000 0
OsZ2CHX JIE2S MM 6,000,000& 6,000
301 et A= 1,120 1,120 0
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O3S X A4 AHAS 5 FAX AH LA
1,120,000 1,120
401 AlEHIZL 2 0HY| 60,000 55,000 5,000
01 Al&H| 60,000 55,000 5,000
Os3CX AIE&2 AEH| 40,000,000 40,000
OSFEM M2 HE=HHKCIAE AL
S X4l 20,000, 000& 20,000
SSSX ola s e 182,711 177,051 5,660
801 ol bl 182,711 177,051 5,660
01 & Btail bl bl 182,711 177,051 5,660
O ol gl dl 182,711,000 182,711
SEN R s8HIXH 1,500,000 0 1,500,000
401 Al HI L 204 HI 1,500,000 0 1,500,000
01 Al&H| 1,494,600 0 1,494,600
OBET S2UXANLLYUS
1,494 ,600,000& 1,494,600
03 Al 201 Y| 5,400 0 5,400
OBENT SZUXHLLYURY
5,400,000& 5,400
2As2CX SSO0ISAIE N - 200,000 0 200,000
EPS
& 100,000
Al 100,000
401 AlEHIZL £ 0HY| 200,000 0 200,000
& 100,000
Al 100,000
01 Al&H| 198,560 0 198,560
O2L=ssHUX BS0IsAE -2
198,560,000 198,560
& 99,280
Al 99,280
03 AlIE 21| 1,440 0 1,440
O2L=2HYX BS0IsAE -2
200,000,000 *0.72% 1,440
= 720
Al 720
A SZ2CEHA Ze|AFR A JH 350,000 0 350,000
H A
Xl 175,000
Al 175,000
401 Al HI L 2 0HHI 350,000 0 350,000
Xl 175,000
Al 175,000
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